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Instructions: The solution does not use any letter more than once, so any letter that appears more than
once throughout the entire puzzle should be crossed out. Use the clues JSor each horizontal row to eliminate
and sequence the letters in that row. Reveal the solution by writing the correct letter or letters from each
horizontal row in the correct circles above. You may need to solve some clues before you can solve others,
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A Q Y W M S X twocorect, right place
H H F J V Z D onecorec, right place
E K G L G L S twocorect, wrong place, wrong order
X S Q M O R A twocorect right place
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S I T Q@Q G E L twocorect, one right place, right order

F A F B M X V twocorrect, right place

M C X Z O V S onecorect, right place

P W R K G Q T twocorect, right place )
e
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one correct, right place
one correct, right place
two correct, right place
one correct, right place
two correct, right place )
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two correct, one right place, wrong order
two correct, right place

one correct, right place

one correct, right place

one correct, right place
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